

REQUEST FOR QUOTATION	<p style="text-align: center;"><b>TROY SCHOOL DISTRICT</b></p> <p style="text-align: center;">1140 RANKIN, TROY, MICHIGAN 48083</p> <p style="text-align: center;">248-823-4052</p> <p style="text-align: center;">FAX: 248-823-4077</p>	REQUISITION
No. <b>9358</b>		
DUE DATE <b>10-12-06</b> NO LATER THAN <b>3 p.m.</b>		DATE <b>9-28-06</b>

**REQUEST FOR QUOTE – NOT AN ORDER**

THIS FORM MUST BE UTILIZED WHEN RESPONDING TO THIS REQUEST  
 BID ENVELOPE ENCLOSED

**THE RFQ NUMBER MUST APPEAR ON ALL QUOTATIONS AND RELATED CORRESPONDENCE, THIS IS NOT AN ORDER**

Quantity	DESCRIPTION	UNIT PRICE	AMOUNT
	<p>Please supply us with your bid to furnish the Troy School District with <b>MUSICAL INSTRUMENTS &amp; EQUIPMENT</b> per the attached specifications.</p> <p style="text-align: center;">Copies of the bid are available at:  <a href="http://www.troy.k12.mi.us/purchasing/items_out_for_bid.htm">www.troy.k12.mi.us/purchasing/items_out_for_bid.htm</a></p> <p style="text-align: center;">Bid recaps will be available at:  <a href="http://troy.k12.mi.us/purchasing/index.htm">troy.k12.mi.us/purchasing/index.htm</a></p> <p style="text-align: center;"><u>FACSIMILE BID IS NOT ACCEPTABLE</u></p> <p>Bids will not be accepted if submitted after the deadline specified (local time) in the advertisement to bid or in the information to bidders. The late submission of a bid makes the bid nonrepsonsive and is a material defect which shall not be waived by the Board of Education. Delays in the mail will not be considered. All Late bids in the mail will be returned to the bidder unopened.</p> <p>Proposal for the submission of alternatives by vendors will be accepted and reviewed. However, if any substitution or departure is not clearly noted and described, it will be understood that the bid intends to exactly meet the specifications.</p> <p>The Board of Education shall be the sole judge as to whether the proposed goods are "equal" or "approved". Quotations must be mailed or delivered to the Purchasing Office, 1140 Rankin, Troy, MI 48083 no later than 3 p.m. on the date shown above. Michigan State Sales and Use Taxes and Federal Excise Taxes do not apply unless otherwise indicated. Exemption certificates will be furnished when necessary. This request imposes no obligations on the buyer. The Board of Education reserves the right to accept or reject any or all bids or to split awards by items or to accept bids, which will best serve the Board of Education.</p>		

**THIS AREA MUST BE FILLED IN**

DELIVERY TIME	PRICES FIRM FOR	NAME OF COMPANY	TELEPHONE NO.
TERMS		NO. & STREET	FAX #
FOB DELIVERED	ALL DELIVERY CHARGES MUST BE INCLUDED IN PRICES SHOWN	CITY, STATE & ZIP CODE	E-MAIL
CONTACT PERSON (PLEASE PRINT)		SIGNATURE	DATE



**TROY SCHOOL DISTRICT  
 BID 9358 MUSICAL INSTRUMENTS & EQUIPMENT**

**ATHENS HIGH SCHOOL - ORCHESTRA**

Qty.	Description	Unit Price	Total Price
1	Musser Classic Chimes 1-1/4 chrome plated M635C		
	<b>Estimated Delivery Date:</b>		
	<b>SHIPPING</b>		
	<b>TOTAL</b>		

**BOULAN PARK MIDDLE SCHOOL - BAND**

Qty.	Description	Unit Price	Total Price
3	Fox Model 41 Bassoon		
1	“Dr. Beat” DB-90 Metronome		
1	Superscope PSD300 Portable CD Player/Recorder		
1	K Zildjian 20” Ride Cymbal		
1	K Zildjian 22” Ride Cymbal		
4	Gemeinhardt 4PSH Piccolo		
5	Holton H602 Single F French Horn		
2	Yamaha YCL221 Bass Clarinet		
1	King 1135 Tuba		
6	Wemsco 397T Tuba Hanger – Wall Bracket		
20	Manhasset “Symphony” Music Stands		
1	Roland MP60 Digital Electric Piano with Stand		
1	Wenger Series 200 Audio System ASM201 w/CD/RW and Cassette 126C802		
1	1252600 Wenger Expanded Music Lab Workstation		

**BOULAN PARK MIDDLE SCHOOL BAND – CONTINUED**

<b>Qty</b>	<b>Description</b>	<b>Unit Price</b>	<b>Total Price</b>
2	Pearl Power Pro Cymbal Stand 70W		
2	054A160 Wenger Tuba Rest Chair attachment		
	<b>Estimated Delivery Date:</b>		
	<b>SHIPPING</b>		
	<b>TOTAL</b>		

**BOULAN PARK MIDDLE SCHOOL ORCHESTRA**

<b>Qty.</b>	<b>Description</b>	<b>Unit Price</b>	<b>Total Price</b>
4	3/4 size (Shar BBH) Bass Bows – 3 French, 1 German		
3	¾ size CUSHY Glider Bass bag with wheels (Shar HBBW450)		
2	4/4 Maestro Cello Outfits (Shar SC2WH 4/4 size Cello, A. Schmidt brazilwood bow-CBH-& Chusy Glider-HCB-HCBW350 bag)		
2	4/4 size (Shar TC59) Toshira Endeavor Violin Case		
	<b>Estimated Delivery Date:</b>		
	<b>SHIPPING</b>		
	<b>TOTAL</b>		

TROY SCHOOL DISTRICT Bid 9358 Musical Instruments/Equipment Boulan Park Middle School Athens High School		CO.: Anderson Music Co. TERMS: FIRM:		CO.: The Woodwind & Brasswind TERMS: Net 30 FIRM: 90 Days		CO.: Evola Music TERMS: FIRM: 2 mths		CO.: Washington Music Center TERMS: Net 30 FIRM: 90 Days		CO.: Shar Products Co. TERMS: FIRM: 90 Days	
Qty.	Description	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
<b>Athens High School - Orchestra</b>											
1	Musser Classic Chimes 1-1/4 chrome plated M635C	2,995.00	2,995.00	2,750.00	2,750.00		NO BID	2,589.00	2,589.00		NO BID
	<b>Estimated Delivery Date:</b>			4-6 weeks							
	<b>Shipping</b>				Included						
	<b>TOTAL</b>		<b>2,995.00</b>		<b>2,750.00</b>		<b>NO BID</b>		<b>2,589.00</b>		<b>NO BID</b>
<b>Boulan Park Middle School - Band</b>											
3	Fox Model 41 Bassoon	3,395.00	10,185.00	3,050.00	9,150.00		NO BID	60-120 days	3,045.00	9,135.00	NO BID
1	"Dr. Beat" DB-90 Metronome	140.00	140.00	120.00	120.00		NO BID		149.00	149.00	119.00 119.00
1	Superscope PSD300 Portable CD Player/Recorder		NO BID		NO BID		NO BID			NO BID	NO BID
1	K Zildjian 20" Ride Cymbal	Mod K0854 245.00	245.00	K0817 206.00	206.00		NO BID	K0817 239.00	239.00		NO BID
1	K Zildjian 22" Ride Cymbal	Mod K0854 285.00	285.00	K0819 238.00	238.00		NO BID	K0819 289.00	289.00		NO BID
4	Gemeinhardt 4PSH Piccolo	475.00	1,900.00	390.00	1,560.00		NO BID		429.00	1,716.00	NO BID
5	Holton H602 Single F French Horn	1,085.00	5,425.00	1,010.00	5,050.00		NO BID		989.00	4,945.00	NO BID
2	Yamaha YCL221 Bass Clarinet	1,195.00	2,390.00	1,375.00	2,750.00		NO BID		1,325.00	2,650.00	NO BID
1	King 1135 Tuba	2,350.00	2,350.00	w/case (1135W) 2,775.00	2,775.00		NO BID	w/case1135W \$2,439	2,155.00	2,155.00	NO BID
6	Wemsco 397T Tuba Hanger – Wall Bracket		NO BID	130.00	780.00		NO BID			NO BID	NO BID
20	Manhasset "Symphony" Music Stands	Mod M-48 32.00	640.00	22.00	440.00		NO BID	AC48 26.50	530.00		NO BID
1	Roland MP60 Digital Electric Piano with Stand		NO BID		NO BID	Yamaha C/P-220 1,195.00	1,195.00	MP-70 - MP60 Disc.	1,099.00	1,099.00	NO BID
1	Wenger Series 200 Audio System ASM201 w/CD/RW and Cassette 126C802		NO BID		NO BID		NO BID			NO BID	NO BID
1	1252600 Wenger Expanded Music Lab Workstation		NO BID		NO BID		NO BID			NO BID	NO BID
2	Pearl Power Pro Cymbal Stand 70W	60.00	120.00	45.00	90.00		NO BID	54.00	108.00		NO BID
2	054A160 Wenger Tuba Rest Chair attachment		NO BID		NO BID		NO BID			NO BID	NO BID
	<b>Estimated Delivery Date:</b>			7-30							10 days -APR
	<b>Shipping</b>				included						
	<b>TOTAL</b>		<b>23,680.00</b>		<b>23,159.00</b>		<b>1,195.00</b>		<b>23,015.00</b>		<b>119.00</b>
<b>Boulan Park Middle School - Orchestra</b>											
4	3/4 size (Shar BBH) Bass Bows – 3 French, 1 German		NO BID		NO BID		NO BID				88.00 352.00
3	¾ size CUSHY Glider Bass bag with wheels (Shar HBBW450)		NO BID		NO BID		NO BID				146.00 438.00
2	4/4 Maestro Cello Outfits (Shar SC2WH 4/4 size Cello, A. Schmidt brazilwood bow-CBH-& Chusy Glider-HCB-HCBW350 bag)		NO BID		NO BID		NO BID				980.00 1,960.00
2	4/4 size (Shar TC59) Toshira Endeavor Violin Case		NO BID		NO BID		NO BID				30.00 60.00
	<b>Estimated Delivery Date:</b>										10 days -APR
	<b>Shipping</b>										
	<b>TOTAL</b>		<b>NO BID</b>		<b>NO BID</b>		<b>NO BID</b>		<b>NO BID</b>		<b>2,810.00</b>

Qty.	Qty	TROY SCHOOL DISTRICT	CO.: Peripole-Bergerault, Inc.		CO.: Kand S Music		CO.: Interstate Music		CO.: Wenger Corp.				
		Bid 9358 Musical Instruments/Equipment Boulan Park Middle School Athens High School Description	TERMS: Net 30 FIRM: 1 year	Unit Price	Total Price	TERMS: PO"s accepted FIRM: 60days	Unit Price	Total Price	TERMS: Net 30 FIRM: 60 days	Unit Price	Total Price	TERMS: Net 30 days FIRM: 90 days	Unit Price
		<b><u>Athens High School - Orchestra</u></b>											
	1	Musser Classic Chimes 1-1/4 chrome plated M635C	Bergerault - 1-12 C20C	8,202.00	8,202.00		NO BID	2,508.00	2,508.00				NO BID
		Estimated Delivery Date:	30 days ARO or sooner										
		Shipping			-0-								
		TOTAL			8,202.00		NO BID	2,508.00	2,508.00				NO BID
		<b><u>Boulan Park Middle School - Band</u></b>											
	3	Fox Model 41 Bassoon			NO BID		NO BID	3,055.00	9,165.00				NO BID
	1	"Dr. Beat" DB-90 Metronome			NO BID		NO BID	112.00	112.00				NO BID
	1	Superscope PSD300 Portable CD Player/Recorder			NO BID		NO BID		NO BID				NO BID
	1	K Zildjian 20" Ride Cymbal			NO BID		NO BID	K0817 200.00	200.00				NO BID
	1	K Zildjian 22" Ride Cymbal			NO BID		NO BID	K0819 234.00	234.00				NO BID
	4	Gemeinhardt 4PSH Piccolo			NO BID		NO BID	352.00	1,408.00				NO BID
	5	Holton H602 Single F French Horn			NO BID	899.00	4,495.00	1,010.00	5,050.00				NO BID
	2	Yamaha YCL221 Bass Clarinet	RS Berkely SC	849.00	1,698.00			1,326.00	2,652.00				NO BID
	1	King 1135 Tuba			NO BID		NO BID	w/case #1135W \$2,604	2,289.00	2,289.00			NO BID
	6	Wemsco 397T Tuba Hanger – Wall Bracket			NO BID		NO BID		NO BID				NO BID
	20	Manhasset "Symphony" Music Stands			NO BID		NO BID	M48 20.55	411.00				NO BID
	1	Roland MP60 Digital Electric Piano with Stand			NO BID		NO BID		NO BID				NO BID
	1	Wenger Series 200 Audio System ASM201 w/CD/RW and Cassette 126C802			NO BID		NO BID		NO BID				discontinued
	1	1252600 Wenger Expanded Music Lab Workstation			NO BID		NO BID		NO BID	1,095.00	1,095.00		1,095.00
	2	Pearl Power Pro Cymbal Stand 70W			NO BID		NO BID		NO BID				NO BID
	2	054A160 Wenger Tuba Rest Chair attachment			NO BID		NO BID		NO BID	80.00	160.00		80.00
		Estimated Delivery Date:	5 days										30 day ARO
		Shipping			-0-								135.00
		TOTAL			NO BID		6,193.00	21,521.00	21,521.00				1,390.00
		<b><u>Boulan Park Middle School - Orchestra</u></b>											
	4	3/4 size (Shar BBH) Bass Bows – 3 French, 1 German			NO BID		NO BID		NO BID				NO BID
	3	¾ size CUSHY Glider Bass bag with wheels (Shar HBBW450)			NO BID		NO BID		NO BID				NO BID
	2	4/4 Maestro Cello Outfits (Shar SC2WH 4/4 size Cello, A. Schmidt brazilwood bow-CBH-& Chusy Glider-HCB HCBW350 bag)			NO BID		NO BID		NO BID				NO BID
	2	4/4 size (Shar TC59) Toshira Endeavor Violin Case			NO BID		NO BID		NO BID				NO BID
		Estimated Delivery Date:											
		Shipping											
		TOTAL			NO BID		NO BID		NO BID				NO BID



**TROY SCHOOL DISTRICT  
 Bid 9358 Musical Instruments/Equipment  
 Boulan Park Middle School  
 Athens High School  
 Description**

Qty.

Qty

<b><u>Athens High School - Orchestra</u></b>	
1	Musser Classic Chimes 1-1/4 chrome plated M635C
<b>Estimated Delivery Date:</b>	
<b>Shipping</b>	
<b>TOTAL</b>	
<b><u>Boulan Park Middle School - Band</u></b>	
3	Fox Model 41 Bassoon
1	"Dr. Beat" DB-90 Metronome
1	Superscope PSD300 Portable CD Player/Recorder
1	K Zildjian 20" Ride Cymbal
1	K Zildjian 22" Ride Cymbal
4	Gemeinhardt 4PSH Piccolo
5	Holton H602 Single F French Horn
2	Yamaha YCL221 Bass Clarinet
1	King 1135 Tuba
6	Wemsco 397T Tuba Hanger – Wall Bracket
20	Manhasset "Symphony" Music Stands
1	Roland MP60 Digital Electric Piano with Stand
1	Wenger Series 200 Audio System ASM201 w/CD/RW and Cassette 126C802
1	1252600 Wenger Expanded Music Lab Workstation
2	Pearl Power Pro Cymbal Stand 70W
2	054A160 Wenger Tuba Rest Chair attachment
<b>Estimated Delivery Date:</b>	
<b>Shipping</b>	
<b>TOTAL</b>	
<b><u>Boulan Park Middle School - Orchestra</u></b>	
4	3/4 size (Shar BBH) Bass Bows – 3 French, 1 German
3	¾ size CUSHY Glider Bass bag with wheels (Shar HBBW450)
2	4/4 Maestro Cello Outfits (Shar SC2WH 4/4 size Cello, A. Schmidt brazilwood bow-CBH-& Chusy Glider-HCB-HCBW350 bag)
2	4/4 size (Shar TC59) Toshira Endeavor Violin Case
<b>Estimated Delivery Date:</b>	
<b>Shipping</b>	
<b>TOTAL</b>	

Richard Bittner - No Response  
 Psarianos Violins - No Response  
 Rochester Violin - No Response  
 Frederic Weiner Inc. - No Response  
 Wilson Violin - No Response  
 West Music Co. - No Response  
 Brook May Music Co. - No Response  
 A & G Central Music Inc. - No Response  
 Wichita Band Instruments - No Response  
 Marshall Music Co. - No Response  
 Falls Music Center - No Response  
 Shure Inc. - No Response  
 American Music Bid Specialist - No Response